RAILROAD COMMISSION OF TEXAS TABLE 4 - GATHERING AND TRANSMISSION SALES MMBTU, REVENUE AND AVERAGE PRICE BY ACCOUNT CALENDAR YEAR 2022

	480-RES	481-COMM & IND	482-OTHER SALES	483-SALES FOR	
UTILITY	SALES	SALES	TO PUB AUTH	RESALE	TOTAL
AGUA TRANQUILLO MIDSTREAM LLC				758,176	758,176
				\$4,402,495.49	\$4,402,495.49
				\$5.81	\$5.81
ATMOS ENERGY, WEST TEXAS DIVISION				36,168	36,168
Times Energy 251 Text to Britisher.				\$161,049.00	\$161,049.00
				\$4.45	\$4.45
DIVI MIDSTREAM LLC				1 226 124	1 226 124
BKV MIDSTREAM, LLC				1,226,134 \$6,916,668.11	1,226,134 \$6,916,668.13
				\$5.64	\$5.64
BLACKBRUSH O & G, LLC				23,500	23,500
				\$123,276.38	\$123,276.38
				\$5.25	\$5.25
BOARDWALK TEXAS INTRASTATE, LLC				45,373	45,373
				\$304,245.00	\$304,245.00
				\$6.71	\$6.71
BTA ETG GATHERING LLC				1,791,538	1,791,538
				\$11,067,238.00	\$11,067,238.00
				\$6.18	\$6.18
CANES MIDSTREAM G&P LLC				82,155,843	82,155,843
CANCES WILDSTREAM GOT LEE				\$449,041,871.66	
				\$5.47	\$5.47
CENTANIA INITRACTATE DIREUMS 11.0		42.240.225		40 (52 504	22.002.040
CENTANA INTRASTATE PIPELINE, LLC		12,340,335		10,653,584	22,993,919
		\$80,540,354.00 \$6.53		\$69,399,073.00 \$6.51	\$149,939,427.00 \$6.52
COPANO PIPELINES/UP GLFCOAST LLC				1,890,979	1,890,979
				\$11,574,374.00	\$11,574,374.00
				\$6.12	\$6.12

UTILITY	480-RES SALES	481-COMM & IND SALES	482-OTHER SALES TO PUB AUTH	483-SALES FOR RESALE	TOTAL
OTILITY	SALES	SALES	TO FOB AOTH	RESALE	TOTAL
CPR PIPELINE LLC		49,135 \$425,555.00 \$8.66			49,135 \$425,555.00 \$8.66
DCP GUADALUPE PIPELINE, LLC		638,686 \$3,206,364.00 \$5.02		69,620,047 \$414,352,340.00 \$5.95	70,258,733 \$417,558,704.00 \$5.94
DOW PIPELINE COMPANY	6,641 \$43,385.00 \$6.53	86,539 \$528,057.00 \$6.10			93,180 \$571,442.00 \$6.13
EMPIRICAL PIPELINE CO. LLC		91,289 \$965,584.00 \$10.58			91,289 \$965,584.00 \$10.58
ENCINAL GATHERING, LTD.				7,669,752 \$41,730,046.38 \$5.44	7,669,752 \$41,730,046.38 \$5.44
ENERGY TRANSFER FUEL, LP		19,745,038 \$219,857,796.63 \$11.13		282,095,307 \$1,544,513,373.91 \$5.48	301,840,345 \$1,764,371,170.54 \$5.85
ENTERPRISE TEXAS PIPELINE LLC				4,957,500 \$34,034,600.00 \$6.87	4,957,500 \$34,034,600.00 \$6.87
ETC KATY PIPELINE, LLC		182,051 \$1,451,362.75 \$7.97		190,652,768 \$1,050,439,007.98 \$5.51	190,834,819 \$1,051,890,370.73 \$5.51
ETC TEXAS P/L, LTD.		450,042,222 \$2,493,233,567.59 \$5.54		7,437,356 \$92,208,060.61 \$12.40	457,479,578 \$2,585,441,628.20 \$5.65

LITHITY	480-RES	481-COMM & IND	482-OTHER SALES TO PUB AUTH	483-SALES FOR	TOTAL
FUELS COTTON VALLEY GATH, LLC	SALES	SALES	TO PUB AUTH	RESALE 335,861	TOTAL 335,861
10220 0011011 1/12221 0/1111/1220				\$1,858,558.00	\$1,858,558.00
				\$5.53	\$5.53
GATEWAY CORRIGAN LLC		245			245
		\$1,226.44			\$1,226.44
		\$5.01			\$5.01
GATEWAY PIPELINE COMPANY LLC		640.704			640.704
GATEWAY PIPELINE COMPANY LLC		649,704 \$4,961,637.02			649,704 \$4,961,637.02
		\$4,961,637.02 \$7.64			\$4,961,657.02 \$7.64
		\$7.04			Ţ7.0 -
HOUSTON PIPE LINE COMPANY LP		134,564,855		564,193,782	698,758,637
		\$833,901,067.75		\$3,236,852,683.66	\$4,070,753,751.41
		\$6.20		\$5.74	\$5.83
INA INIVESTMENITS I I C				12.041	12.041
JM INVESTMENTS, L.L.C.				13,941 \$78,044.00	13,941 \$78,044.00
				\$5.60	\$5.60
				7 5.55	Ţ5.05
KINDER MORGAN NORTH TEXAS PL LLC				439,823	439,823
				\$1,840,739.00	\$1,840,739.00
				\$4.19	\$4.19
KINDER MORGAN TEJAS PIPELINE LLC		305,740,286		345,092,091	650,832,377
		\$1,975,643,458.00		\$2,083,296,189.00	\$4,058,939,647.00
		\$6.46		\$6.04	\$6.24
KINDER MORGAN TEXAS PIPELINE LLC		171 540 015		242 757 005	495 206 940
KINDER WORGAN TEXAS PIPELINE LLC		171,548,815 \$1,116,900,949.00		313,757,995 \$1,795,955,756.00	485,306,810 \$2,912,856,705.00
		\$6.51		\$1,793,933,730.00	\$6.00
		, 0.31		Ų3.7 <u>2</u>	, 0.50
LOBO PIPELINE COMPANY LLC				21,848,873	21,848,873
				\$122,842,415.56	\$122,842,415.56
				\$5.62	\$5.62
MATAGORDA-WHARTON PIPELINES LLC		253,392			253,392
WATAGORDA-WHARTON FIFELINES LLC		\$2,812,940.83			\$2,812,940.83
		<i>72,012,340.03</i>			Y2,012,J70.0J

	480-RES	481-COMM & IND	482-OTHER SALES	483-SALES FOR	
UTILITY	SALES	SALES	TO PUB AUTH	RESALE	TOTAL
		\$11.10			\$11.10
MIDCOAST G & P (EAST TEXAS) L.P.		529,106		107,998,189	108,527,295
,		\$3,481,564.00		\$630,119,134.00	\$633,600,698.00
		\$6.58		\$5.83	\$5.84
MIDCOAST PIPELINES (E TX) L.P.				137,188,812	137,188,812
, ,				\$813,839,015.75	\$813,839,015.75
				\$5.93	\$5.93
MONTGOMERY GAS TRANSMISSION, INC				143,994	143,994
·				\$1,485,267.92	\$1,485,267.92
				\$10.31	\$10.31
NET MEXICO PIPELINE PARTNERS,LLC				10,000	10,000
				\$53,060.00	\$53,060.00
				\$5.31	\$5.31
OASIS PIPELINE, LP		14,215,068		450,060,057	464,275,125
		\$90,219,297.93		\$2,438,408,834.68	\$2,528,628,132.61
		\$6.35		\$5.42	\$5.45
ONEOK WESTEX TRANSMISSION,L.L.C.		19,888		26,000	45,888
		\$120,190.00		\$115,750.00	\$235,940.00
		\$6.04		\$4.45	\$5.14
PETROLEUM FUELS COMPANY, INC.		102,070			102,070
		\$832,978.59			\$832,978.59
		\$8.16			\$8.16
PETROLEUM FUELS MIDSTREAM HOLDING LLC		105,571		147,821	253,392
		\$787,222.00		\$2,025,718.83	\$2,812,940.83
		\$7.46		\$13.70	\$11.10
PINNACLE GAS TREATING LLC				125,752	125,752
				\$747,884.00	\$747,884.00
				\$5.95	\$5.95

UTILITY	480-RES SALES	481-COMM & IND SALES	482-OTHER SALES TO PUB AUTH	483-SALES FOR RESALE	TOTAL
	07.120	07.1210		1120/122	10.712
POST OAK MIDSTREAM, L.L.C.				529,513	529,513
				\$4,484,274.54	\$4,484,274.54
				\$8.47	\$8.47
RED BLUFF EXPRESS PIPELINE, LLC				107,191,181	107,191,181
				\$563,995,486.94	\$563,995,486.94
				\$5.26	\$5.26
ROADRUNNER GAS TRANSMISSION, LLC				1,990,574	1,990,574
				\$9,278,367.00	\$9,278,367.00
				\$4.66	\$4.66
TEXAS MIDSTREAM GAS SVCS, LLC				5,878	5,878
				\$60,490.00	\$60,490.00
				\$10.29	\$10.29
TRANS-PECOS PIPELINE, LLC				39,269,354	39,269,354
				\$209,698,376.01	\$209,698,376.01
				\$5.34	\$5.34
TREND GATHERING & TREATING, LLC				7,327,436	7,327,436
				\$45,276,516.08	\$45,276,516.08
				\$6.18	\$6.18
TRISTATE NLA, LLC				49,988	49,988
				\$262,161.81	\$262,161.81
				\$5.24	\$5.24
VOL SOLD TOTALS	6,641	1,110,904,295			3,869,671,876
REVENUE TOTALS	\$43,385.00	\$6,829,871,172.53	\$0.00	\$15,692,842,442.30	
MCF TOTALS	\$6.53	\$6.15	\$0.00	\$5.69	\$5.82

Source: Gathering Utilities - 2022 Gathering Annual Report - Page 9
Transmission Utilities - 2022 Transmission Annual Report - Page 27